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Name: Class: { ) Group:  Date:

Pythacoras’ Theorem

In AABC, if ZC =90", then a* + b =¢2.

Proof of Pythagoras’ Theorem by Areas

Figure 1.1 shows a big square of side ¢. It consists of:

- 4 1identical right-angled triangles;

- and 1 small square of side (b — a).
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Figure 1.1

Based on the figure above, how can we prove that o -+ Br=c2 7

(Hint: Consider the area of the big square, 4 triangles and the small Squaré‘ )
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Proof of Pythagoras’ Theorem by Rearrangement (& 3}) and Areas

After rearrangement, we have Figure 1.2(b).

Figure 1.2(a) is the same as Figure 1.1 on the previous page.
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Figure 1.2(b)
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Based on the figures above, how can we prove that ¢+ 5" =¢* ?
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